
1. write your roll number in the space provided on the top of this page.
2. This paper consists of Fiffy (50) multiple-choice type of questions,

3. At the commencement of examination, the question booklet will be glven to you. In the first 5
minutes, you are requested to open the booklet and compulsorily .*irrrir" it as below :

circle as indicated below on the correct response against each itern.
I .:rl, C rl).,wtrere tiiil i. the correct response.Example' \:/-

i) Tally the number of,pages and number of questiorr io the Booklet with the informufiFrorf 6 ,1printed on the cover page :lTl'.^-_ _, ,.
$"fFil]';#;"iiI'i?.""*,theOMRSheetNumbershouldbeenteredonthisTestBootffi

4. Each item has four alternative responses marked (i), (ii), (iii) and (iv). you have to darken11,k$ff 3i

5. Your responses to the items are to be indicated in the oMR sheet.
6. Rough Work is to be done in the end of this booklet.

7. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR
Sheet, except for the space allotted for the relevant entries, whict may disclor" yo* identity, or
use abusive language or ernploy any other unfair means such as changi of response by seratcling
orusiug white fluid, you will render yourself liable to disqualification

8. You have to return the original OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carr1r it with ,vou outside the Examination Hall. You are however,
allowed to carry duplicate copy of OMR Sheet on conclusion of examination.

9. Use only BluelBlack BaII point pen.

10. Use of any caleulator or log table etc., is prohibited.

1i. Each question carries one mark. There are no negative marks for incorrect answers.
12.ln case of any discrepancy in the English and Hindi versions, English version will be taken as

final.
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Section A- General English

Multiple choice questions:'

Choose the correct tense option from

those given below:-

l. As soon as he
for a walk.
(i) eats

he went

(ii) has eaten
(iii) had eaten
(iv) will eat

2. She 

- 

Your PartY if You

had invited her.
(i) would have attended
(ii) will attend
(iii) would attend
(irl will have be attending

ln the sentences given below change

into the passive by selecting the conect

alternative.

3. ldo not know him.
(i) He has not been known to me'

(ii) He is not known to me'
(iii1 He was not known to me-
(ir) He had not been known to me'

4. Little strokes fell great oaks'
(i) Great oaks are fallen bY little

strokes.
(ii) Great oaks are fell bY little

strokes.
(iii) Great oaks were fallen bY

little strokes. d

(iv) Great oaks are felled by little
strokes.

Choose from the correct options below

to transform the sentences as directed'

5. He said that he does not believe in

ghosts (Past Tense)

[il He said that he did not

believed in ghosts'
(ii) He said that he did not believe

in ghosts.
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(iii) He said that he had not

believed in gho sts'
(iv) He said that he haC not been

believe in ghosts

6. t shall never forget you lTransform
into Affirmative)
(i) You shall be rernernbered'
(iil I shall alwaYs rennember You'

tiiil shall I ever rernernber You ?

(iu) Remember icu I lrvill'

Fill in the blanks r"t'ih appropriate

articles / determiners from those given

below :

7. YesterdaY I met European

and lndian.
(i) an, an
(ii) a, an
(iii) an, a
(iv) o, ?

8. I normally have
lunch.
(i) some
(ii) few
(iii) many
(iv) a few

rice for

Fill in suitable prepositions in the blanks

from the oPtions given below :

President of the new RePublic'
(i) at
(ii) in
(iii) out
(iv) for

10. There is an excePtion
every rule
(i) for
(ii) to
(iii) on
(iv) in

20L4



Section B
General Knowledgq

11" The largest democratic country in
the world is _"(i) United States of America
(ii) United Kingdom
(iii) China
(iv) India
gfrqT or rrq-fr erst trffi.fr
{lE t-
(D qg-ff {t-E 3rtfufiT
(ii) gflges frt{rsq
(iii) *{
(iv) gl{fl

12. Who among the following was the
chairman of the Drafting Committee
of the lndian 'constitution?
(i) Rirjendra Prasad
(ii) Tej Bahadur Sapru
(iii)' Rajgopalachari
(iv) B. R. Ambedkar

ftq d t .Tnftq rifqqn of qqf*
6iA d gtuqT 6lt a)-

(i) {fi< rNnE
(ii) to varEv vg
(iii) {rcrilqrF zrft
(iv) sr. fr 3TN. er+-s+T

13. Which of the following book was
written by Tulsidas?
(i) Vinay Patrika
(ii) Ramcharitmanas
(iii) (i) and (ii)
(iv) Yashodhara
frqt*zbHgwn
E"RT qFdd B-

g-d'6-{rs

" (i)

(ii)

(iii)
(iv)

fffiq qk+-r
Trq"ftf,ffrs
(i) a (ii) eHi
qYhNT
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14. Bismillah Khan is associated with
(i) Tabla
(ii) Sarod
(iii) Flute
(iv) Shehnai
Rfum rqrq q-dif,q-a B*
(i) EalilT qrffT

(ii) {{i-{ qrffT

(iii) qrgfr qrffi
(iv) Piffir$ qrtrT

15. The famous Meenakshitemple is
situated in
(i) Maharashtra
(ii) Gujarat
(iii) Orissa
(iv) Tamilnadu
fi-.rnt rikq fuT( t-

qEr{rE

xq{-d
oilBsr

16. Deficiency of lron leads to
(i) Dengue
(ii) Malaria
(iii) Dental Cavity
(iv) Anaemia
effi-{ ti d-a .rs of tFfr
+dT B?

t eqr

(i)
(ii)
(iii)
(iv)

17. Gir National Park is situated in
(i) Bihar
(ii) Allahabad
(iii) West Bengal
(iv) Gujarat
frR ql-$q silq o-# frerd t ?

(i) k6R
(ii) {dr6rqrE
(iii) qk4q qqm
(iv) {q{rf,

(i)
(ii)
(iii)
(iv)

+J
TERqT
d-di qfr

qftFqr
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18. Which day is celebrated as human
rights day?
(i) 10-Dec
(ii) 11-Dec
(iii) 10-Oct
(iv) 12-Oct
qrlqTfrfl( frq{] qrq q;Il{r qrf,I
t?
(i) r o frErsq{
(ii) r r ft-fliq{
(iii) 10 3rtrgq{
(iv) 12 snqgq{

19. Which among the following movies
has bagged the best picture award
at the B6th Oscar Awards 2A14?
(i) 12 Years A Slave
(ii) Gravity
(iii) American Hustle
(iv) Frozen
86 t oTrfiFt sTqrd (zora) ti fr*q
q t fr,-S ifl-{s}E qafrra m-r

grtrrq R--dT ?

(i) 12 flr{ q r+q
(ii) tEE
(iii) 3r+R-6q Eqcr
(iv) sl-s{

20. Satellite launching station is situated
a{o(..,...
(i) Pune
(ii) Trombay
(iii) Sriharikota
(iv) Mumbai
*aar{c letqur €srq zn-d Rerf,
i\6_.
(i)
(ii)
(iii)
(iv)

Section C
History & Civics

21. Where is Mohenjodaro located ?
(i) Punjab
(ii) Haryana
(iii) Sindh
(iv) Gujarat
ffit o-d crq furo t z

(i) iitrrq

(ii) ERqIqTi

(iii) ftiET

(iv) X\iltTn

22.Who built the Grand Trunk Road ?
(i) Feroz Shah
(ii) Sher Shah
(iii) Barham Shah
(iv) Shan Jahan
qis io qle tnr ffiq frt{fi orqnn ?

(i) ftrrt-o qn6

(iil twir6
(iii) qs6rl YIr6

(iv) ?TT6 urdrT

23. Which Peshwa is widety known as
"Nana Saheb" ?
(i) Baji Rao
(ii) BalajiVishwanath
(iii) Balaji Baji Rao
(iv) Madhav Rao
diqeT tsrqT tTrqT HrsI" d qIq t
gmTtl qrot t ?

(i) ot$ YrE

(ii) ET-alfr frrq-*Ql
(iii) qrmffi erfr trq
(iv) qlqtl rltl

24.The Revolt of 1857 began at which
place ?
(i) Jhansi
(ii) Kanpur
(iii) Meerut
(iv) Awadh
iasz et mtfr et gffiTra ffi-d t g{ ?

(i) Hifr
(ii) zpTqgt

q-dl
o

Frdffisr
g'q-{
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(iii) t{d
(i") 3{IIEI

25. At which place did Gandhiji's first
experiment in Satyagraha begin ?(i) Ahemedabad
(ii) Champaran
(iii) Kheda
(iv) Calcutta
TIrft "ft i rnEo d offii qcln'6
ctr-d-d-{ qfr gwrro tn-S t qff ,ft ?

(i) ci-arfEFnq

(ii) u+qrs{
(iii) dsr
(iv) mEFFdr

26. Right to information in lndia is a(i) Fundamental right
(ii) Legal right
(iii) both (i) and (ii)
(iv) neither (i) and (ii)
qrw t Er{r 6-r oTko'N fq-rq t
(i) Xa ukon
(ii) o.r{ft orkqrn
(iii) (i)oN (ii)
(iv) (i) *t (ii) t t ot{ cft =r€f r

27.Who is the Vice President of lndia?(i) Shri Hamid Ansari
(ii) Smt. Meera Kumar
(iii) ShriA.K. Anthony
(iv) Shri Sushil Kumar Shinde
?Trrd d sqyrqqfr {.fi t q+-{ B ?
(i) *ft Erfrc ofsrt
(ii) ffi ft{r EtrT(iii) :ft s.d. \+ft +

(iv) * Eyfrd EqR ftr+

28. Who is the ex-officio Chairman of
the Planning Commission of India ?(i) Vice president of lndia

(ii) The Prime Minister of
lndia

(iii) The Finance Minister of
lndia

(iv) The Law Minister of lndia
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?flrfrq fffiT oTrq}.T at Gtgqerflr
d}q o-rt t
(i) qrrd d Bq{TEqfr
(ii) qrso d eqr+T*
(ii, qrro d M
(iv) qrrn d or1t rS

29. Who administers the oath of office
to the president of lndia ?
(i) Chief Justice of lndia
(ii) Speaker to Lok Sabha
(iii) Prime Minister
(iv) Vice President
qrrf, d yrqqft o1 vrqq 6)q u-wr
tnrqrm t ?

(i) .nro d Uis qrqrEfuT

(ii) tiltrHqr * aatqeT

(iii) lun.T+
(iv) Bq$Eqfr

30. Who is the Govemor of Rajasthan ?(i) Margaret Alva
(ii) Vasundhara Raje
(iii) Ashok Gehtot
(iv) N.D. Tiwari
qlurcemr d Tl'qq-q S{i t qft{ B
(i) *'ryfr qnld croqT

(ii) ffi agenr nd
(iii) .:ft GT{i-o, .refd
(iv) +ft \'q" q" funft

.t



Section D
Mathematical Aptitude

: r. rf 164'

(i)

(ii)

(iii)

(iv)

ffi164',

(i)

(ii)

(iiD

(lv)

(i)

(ii)

(iii)
(i")

= 4, then the value of x
1

t6

T
2

1
4

1
8

-4tilloramt-
I

16

I
2

!
4
I
8

xy

x-y
)c+ y

xy

- *y(** y)
11x- -y-

IS

I

r
(
I

I
) -*.' - v' .

32. The value ofl-f is

++oreraH-
xy

(i) x- v

(ii) x+ Y

xy

(iii) - *y(** y)

(iv) *' - y'
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33. rhe value or (ro)i *(ro)? is

(i) 1

(i0 ]29a

161
(iil) 16

32L
(iv) 32

(r e)i + (r o)? or ura t-
(i) 1

(ii) 1280

l6a
(iii) 16

32L
(iv) 32

34" Which one of the following numbers

is the smallest one?

10

(i) -l
(i0

(iii)

(iv)

-5
1

t0
0

1

0. - ^ and -5'10
-1
-5

1

10

0

BffifrRad't6tdS:dgin s{$
Elttlil

-1,

(i)
(i1)

(iii)

(iv)
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35. If n = 1"5, then the value of

x' +zr+1 i.
4

(i) 6
1(iD 7:
2

(iiil 4.s
a1(ir') 5"
4

ffi x=1.5 td r' +2x+1 514;a
4

t-
(i) 6

1(ii) 7:
z

(iii) 4"s
aa(iv) s:
4

36. 40 %o of a number when subtracted
from the number gives 30. What is
that number?
(i) 40
(ii) 70
(iii) s0
(iv) 80

ffir (riF'dEqT EFr 40 % 3ffi d"€qr fr t
Ererql cIrf,r H fr :o frildr tt zrO Tieqr

t-
(i) 40
(i0 70
(iii) s0
(iv) 80

3T.Theaverage of even numbers from 1

to 20 is

(i) 11

(ii) t2
(iii) ilo
(iv) 10
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t fr zo crfr 6r Fff d-cqrcfi EFT 3itgf, t-
(i) ll
(ii) t2

(iii) 110

(iv) 10

38. In what time does a money becomes

double at simple interest rate of 5 Yo

per annum?

(i) 5 years
(ii) 20years
(iii) 25 years
(iv) 10 years

5 % €TtlRq ara fr 6{ t \16 ela

ffiTrnqSggar6t arart-
(i) 5 years
(ii) 20years
(iii) 25 years
(iv) 10 years

39" A 150-meter long train passes an

electric pole in 5 seconds. How long

will it take to cross a bridge of 180-

meter length?

(i) 60 seconds
(ii) 5 seconds
(iii) 30 seconds'
(iv) I I seconds

rso efrc{eifr r'o tmrn$I(1o,ffi h'
qr$of s *hsdf qrumrfrt I.ro
tordrH atn' l8o tr6{ ad ga +t qK

EFrid f6.rcrTsffqffirz
(i) 60 seconds
(ii) 5 seconds
,(iii) 30 seconds
(M l1 seconds

$
"d.

A
n'

F\



40. lf42:b =b:56then , the value of D is

(i) 28J6

(ii) t4J6
(iii) 28J'
(iv) s6J6

fr, qz:b=b:56 t,d b zFrardt-
(D 2sJ6
(ii) 14J6

(iii) zsJt
(iv) s6J6

Section - E

Reasoning

41. Which one of the following is
different from the others?

(D inch
(iD meter
(iii) foot
(iv) litre

ffifuad't6td€Tsratf,ftr
H.

(i)

(ii)

(iii)

(iv)

42. Reading: Knowledge; Work: ?

(i) Employment
(ii) Money
(iii) Engagement
(iv) Experience

3Tt=frET: €IIEI,6TS? :

trrdrru
q]"T

{E
4e{
F
dr6{

(i)

(ii)
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(iii) Fdffi+a
(iv) 3EsrE

43" The wrong term in the series

5, 10, 17, 22, 26, 37 is

(i) t7
(ii) 37
(iir) 22
(iv) 26

ffi 5, lo, 17, 22, 26, 37 fr
46rcT q6 H-

(i) t7
(ii) 37
(iii) 22
(iv) 26

44. Find the missing term inthe following
series

2, 7, 22, 6',1, ?

(D 202
(ii) 201
(iii) 8e
(iv) 133

ffifuMf gsq6qrfl6rE(
2, 7, 22, 67, ?

45. After how many days ftom Republic

Duy, the Independence Day is

celebrated?

(i) 202
(iD 200
(iiO tee
(iv) 201

(i) 202
(ii) 20r
(iii) 8e
(1v) 133
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(i) 4e
(ii) 64
(iii) 46
(iv) e4

rrnrir,;T k{s t foe.* fr a Erq

ffiiq:ar ft{sfnqrunr.tr
(i) 2a2
(iil 200
(iii) 199
(iv) 2at

46. Which word cannot be made from the
letters of the word CHOCOLATE ?

(i) HOrEL
(ir) HEALTH
(iii) rALE
(iv) CLOTH

erq cHocoLArE *'srefit t stm
HI qI6E;rfr carqr il TrrmTr t?
(i) HOrEL
(ii) TTEALTH
(iii) rALE
(iv) CLOTH

a

47.If W:23, WfN:46,then WAy:?

ffi v/:23 ,wIN:46 F).fu way:z
(i) 4e
(ii) 64
(iii) 46
(iv) e4

,}
48. The word that names a necessary part

of Language is

. (i) tongue
(ii) slang
(iii) word
(iv) writing
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sTrqr h 3{rEq?r6 sTrrr 6t Brfftil
.F'Gr qrilr erq F-

(i)

(ii)

(iii)

(iv)

3TrI8flqI

?f,iq

frtu
49. How many straight lines can be drawn

through fwo given points?

at least fwo
more than two
two
None of these

(i)
(ii)
(iii)
(iv)

,$
iA
&
,tl

$

d ffr un'fuqsfr tfta;frsrs
Iqrriffi'srlr6frH?

qrH$fiaa
dtsmo
a)

(D

(i0

(ii1)

(iv) FtrSS6t$afr
50. In a certain language, SpUp is coded

as RQTQ, how will JNVU be coded in
that language?

(i) rMLIV(ii) rouw
(iii) KMWV
(iv) IOWr
atn frFtfr enqrdt spup mtnere &
sqfrTffigf*,:qrdtdrt* nnru
of rss{rvrfretnwafrrar
w$un2
(i) rMUV(i0 rouw
(iii) KMWV
(iv) IOWT


